HENEREREES i
SHM4FE1H26H (OK)

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 128 N7~ 32.8 169 36
<t/ 602.0 90 20
B X 935.5 930 101
RAAIH LA 78.3 559 130
JUH LA 356.6 1,082 100
LEHLA 204.8 501 20
FHELS LA 585.6 990 139
12HLA 28.8 319 111
=FHLA 41.5 309 123
<AOLA 52.0 500 229
2O0F 90.1 189 20
<7rd 44 .4 1,370 309
TITIAITAF A 28.2 311 100
F+77>39 1,351.5 500 94
HFHS 430.6 38 20
74 F A 37.9 911 160
AXF 244.9 262 20
<0 27.9 115 20
dEHAN 66.2 140 51
B ] 104.1 819 50
AILAAH 52.6 467 319
YUAhH 179.1 1,039 319
INGHEE 5,542.6




[f¥fa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
S 12 7 U JAE 180.0 5,150 1,300 [o 2"
> RUA 7 88.2 489 377
S 63.0 768 211
=247 42.4 559 400
vFESHT 620.1 650 81
AFF<3 353.1 1,520 1,290
CHE 6,889.4




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &

BEERXFEE 1208|235 X 193.1 1,234 100
RAAIH LA 143.0 619 200
JUH LA 213.2 789 339
LZHLA 494.5 501 20
XAOLA 930.0 389 100
XA LA 1,535.4 246 79
<55 519.8 161 20
F+77>39 267.0 541 100
HFHS 101.8 35 20
>0OX/)VUl 448.5 1,000 300
FWRX)UL 69.3 500 20
TRIRD 94.6 700 100
ESWYXHZ 38.3 540 109

finERME 72 AHITSITAH 159.7 2,580 2,100

L 28 JdEHAN 45.9 79

BHTiE 5% Ry FHA 1,082.1 380 150

e 68 JUH LA 34.9 450 100
EXTYRS 30.1 183 80
ERVHA 23.2 80

DDEIE 218 E~TOY 874.4 350 250

It 7,298.8




(B : kg)

(&%)
pHE i miEH £ = B Z 1B " =
HE 128 £S5 32.4 1,000 500
<7Fd 178.8 1,500 1,000
EERFE 120%| £S5 1,785.9 1,500 100
bz 1% 216.2 500 200
<3BLA 325.2 220 100
EEr 30.7 300 50
F7>37 197.2 400 100
AXF 201.0 400 100
= 26.3 2,100 500
=X 32.3 500
H0 6% £S5 57.8 1,500 500
e 6% <40 102.7 900 800
=X 58.8 500
aitiE 3,245.3




